

### Government of West Bengal

2, Church Lane, (4th Floor), Room No. 401, Kolkata - 700 001 -----

Phone: 91-33-2243-9187/88, Fax: 91-33-2243-9187

E-mail: wbseps@gmail.com

No. SEPS/181/23-24

Date: 30.05.2023

### **Notice Inviting Quotation**

Quotations are invited from reliable agency/ contractors for civil construction of Electrical Metre Box Outside the Campus of Alipore Zoological Gardens, Alipore, Kolkata as per description of works and estimate mentioned hereunder. Rate should be quoted at percentage below/at par /above the estimated amount.

#### Item of work:

SI. No.	Ref No & Page No	Description of works	Quantity	Unit	Rate (Rs.)	Amount (Rs.)
1	2/1	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete.	2.36	%Cu.M	11927.00	281.00
2	3/1	Earth work in filling in foundation trenches or plinth with good earth, in layers not exceeding 150 mm. including watering and ramming etc. layer by layer complete. (Payment to be made on the basis of measurement of finished quantity of work)	1.30	%Cu.M	7754.00	101.00
3	5/3	Earth work in filling in compound, tank, low land, ditches etc. with good earth, in layers not exceeding 150 mm. including breaking clods and consolidating the same by ramming and dressing complete. (Payment will be made on profile measurement before and after the work)  ii) With carried earth arranged by the contractor within a radius exceeding 3 km. but not exceeding 5 km. including the cost of carried earth.	1.06	%Cu.M	41958.00	445.00
4	3/47	Supplying and laying Polythene Sheet (150 Gm / Sq.M.) over damp proof course or below flooring or roof terracing or in foundation or in foundation trenches.	1.49	Sq.M	24.00	36.00
5	1/14	Single Brick Flat Soling of picked jhama bricks including ramming and dressing bed to proper level and filling joints with local sand.	1.49	Sq.M	361.00	538.00
6	22/35	Cement concrete with graded stone ballast (40 mm size excluding shuttering) In ground floor.  (A) [Pakur Variety] (a) 1:3:6 proportion	0.22	Cu.M	5285.52	1163.00
7	7/15	Brick work with 1st class bricks in cement mortar (1:4) (a) In foundation and plinth.	2.06	Cu.M	5633.86	11606.00
8	8/15	Brick work with 1st class bricks in cement mortar (1:6) (b) In superstructure, In Ground floor.	3.22	Cu.M	5604.10	18045.00



## Government of West Bengal

------ 2, Church Lane, (4th Floor), Room No. 401, Kolkata - 700 001 -----------Phone: 91-33-2243-9187/88, Fax: 91-33-2243-9187

E-mail: wbseps@gmail.com

No	Date :

9	1/189	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] (i) With 1:6 cement mortar (c) 20 mm thick plaster (For internal walls) In Ground Floor.	10.74	Sq.M	172.68	1855.00
10	1/189	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] (i) With 1:6 cement mortar (c) 15 mm thick plaster (For external walls) In Ground Floor.	12.88	Sq.M	149.26	1922.00
11	1/189	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] (i) With 1:4 cement mortar (c) 10 mm thick plaster In Ground Floor.	1.64	Sq.M	131.26	215.00
12	1/192	Labour for Chipping of concrete surface before taking up Plastering work.	25.26	Sq.M	21.00	530.00
13	15/192	Neat cement punning about 1.5 mm thick in wall, dado, window sill, floor etc. NOTE: Cement 0.152 Cu.M per 100 Sq.M.	25.26	Sq.M	33.12	837.00
14	3/115	Supplying, fitting and fixing fibre reinforced polymer (FRP) Composite door frame as per approved section with glass fibre reinforced plastic moulded skins and a special sandwich core, so as to impart monolitaheic composite structure as per approved technology of Department of Science and Technology (DST) to safisfy IS: 4020 door testing performance criteria. (i) 66mm x 90mm	4.64	Metre	497.00	2306.00
15	19/106	Supplying, fitting & fixing fibre reinforced polymer (FRP) Composite door shutters as per approved design with glass fibre reinforced plastic moulded skinand a special sandwich core, so as to impart monolithic composite structure as per approved technology of Department of Science and Technology (DST) to satisfy IS:4020 door testing performance criteria. In ground floor. (i) 32 mm thick	2.56	Sq.M	2763.00	7073.00



## Government of West Bengal

2, Church Lane, (4th Floor), Room No. 401, Kolkata - 700 001 -----

Phone: 91-33-2243-9187/88, Fax: 91-33-2243-9187

E-mail: wbseps@gmail.com

No	
NO	Date :

	1					
16	1/99	M.S. structural works in columns, beams etc. with simple rolled structural members (e.g. joists, angle, channel sections conforming to IS: 226, IS: 808 & SP (6)-1964 connected to one another with bracket, gussets, cleats as per design, direction of Engineer-incharge complete including cutting to requisite shape and length, fabrication with necessary bolting, metal arc welding conforming to IS: 816-1969 & IS: 1995 using electrodes of approved make and brand conforming to IS:814-2004, haulage, hoisting and erection all complete. The rate includes the cost of rolled steel section, consumables such as electrodes, gas and hire charge of all tools and plants and labour required for the work including all incidental chages such as electricity charges, labour insurance charges etc. Payment to be made on the basis of calculated weight of structural members only in finished work as per IS specified weight. Payment for gusset, bracket, cleat, rivets, bolts and nuts may be make by adding the actual weight of such items with the weight of finished structural members weighing not less than 22.5 Kg. / m. or 15 % of weight for finished structural members weighing not less than 22.5 Kg. / m. or 15 % of weight for finished structural members weighing not less than 22.5 Kg. / m. or 15 % of weight for finished structural members weighing not less than 22.5 Kg. / m. or 15 % of weight for finished structural members weighing less than 22.5 Kg. / m. may be increased allow for bracket, cleat, rivet, bolts and nuts etc. and no seperate payment being made for these items, as per direction of Engineer In Charge. The rates are considered for a height of erection 8m. / 2nd floor level from the ground. Add 1.5% extra over the rate for each additional floor or 4m. beyond initial 8m. or part thereof. II) For Structural Works in Roof Trusses etc. using joists, channels and angles of		MT	73761.00	11064.00
17	4/24	specified section weighing less than 22.5 kg/m  Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes.  (i) Pakur Variety.  Avg. 65 mm thick Screed Concrete in Roof over Slab.	0.27	Sq.M	5550.94	1499.00
18	5/204	(b) Rendering the surface of walls and ceiling with white cement based wall putty of approved make and brand. (1.5 mm thick)	25.26	Sq.M	110.00	2779.00
19	7/196	Applying Interior grade Acrylic Primer of approved quality and brand on plastered or concrete surface old or new surface to receive Distemper/ Acrylic emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC.  (b) Two Coats ii) Solvent based interior grade Acrylic Primer.	12.38	%Sq.M	4850.00	600.00



## Government of West Bengal

------ 2, Church Lane, (4th Floor), Room No. 401, Kolkata - 700 001 ----------Phone: 91-33-2243-9187/88, Fax: 91-33-2243-9187

E-mail: wbseps@gmail.com

No	Date :
	Date

	T					
20	4/201	Applying Acrylic Emulsion Paint of approved make and brand on walls and ceiling including sand papering in intermediate coats including putty (to be done under specific instruction of Superintending Engineer): Two Coats ii) Luxury Quality.	12.38	Sq.M	70.00	867.00
21	8/196	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or cencrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC. In Ground Floor: (b) Two Coats.	12.88	%Sq.M	4510.00	581.00
22	14/83	Supplying, fitting & fixing Zn-Al alloy (55% Al & 45% Zn) coating of 150 grams per sq. metre (followed by colour coated on both side) steel sheet work having minimum yield strength of 550 Mpa of trapizoidal profile of approved make (excluding the supporting frame work) fitted and fixed with 55 mm& 25 mm self tapping screw, EPDM Washer 16 mm dia & 3 mm th. washer etc. complete with 150 mm end lap and one corrugation minimum side lap. (Payment to be made on area of finished work).  (i) In Roof:- a) With 0.5 mm thick sheet	2.98	Sq.M	787.00	2345.00
23	17/197	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as per manufacturer's specification and as per direction of Engineer-in-Charge to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer. In Ground floor (Two Coat) a) Normal Acrylic Emulsion.	12.88	Sq.M	67.00	863.00
24	1/199	a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc.	2.56	Sq.M	29.00	74.00
25	13/12	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. Including using of approved putty etc. on the surface, if necessary: (b) On steel or other metal surface: With super gloss (hi-gloss)-(iv) Two coats (with any shade except white)	2.56	Sq.M	79.00	202.00
26	13/12	Removal of rubbish, earth etc. from the working site and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the site in all respect as per direction of Engineer-in-Charge.	27.61	Cu.M	166.00	4583.00
		TOTAL		Rs.		72410.00
	78.0	Adding GST@ 18% & Labour Cess @1%:		Rs.		86298.24
		Final Amount:		Rs.		86298.00
	F	Rupees Eighty Six Thousand Seven Hundred	And Nin	ety Eight (	Only.	



# WEST BENGAL STATE EXPORT PROMOTION SOCIETY

## Government of West Bengal

------ 2, Church Lane, (4th Floor), Room No. 401, Kolkata - 700 001 -----------Phone: 91-33-2243-9187/88, Fax: 91-33-2243-9187

E-mail: wbseps@gmail.com

No	Date :

### **Eligibility Criteria:-**

i)The prospective bidders for works relating to the construction work shall have competence and satisfactorily completed as a prime agency during the last 5(five) years prior to the date of issue of this Notice at least one work of similar nature under the authority of State /Central Govt., State/Central Govt. undertaking / Statutory Bodies /Autonomous Bodies/ Organization of repute and having a magnitude of 40% (forty percent) in one job of the Estimated amount put to tender

or

ii )Satisfactorily completed 2 (two) nos. of works of similar nature under the authority of State /Central Govt., State/Central Govt. undertaking/Statutory Bodies /Autonomous Bodies/ Organization of repute having magnitude of 30% (thirty percent) of each work of the Estimated amount put to tender

or

iii)one single running work of similar nature which has been completed to the extent of 80% or more and value of which is not less than the desired value at under the authorities as mentioned in i) above.

## Documents to be submitted along with Price Quotation:-

Credential documents as per eligibility criteria, P. Tax Registration and deposit receipt challan for the current/last Financial Year, Pan Card, I. T. Return for the last year, Goods & Service Tax Registration certificate, Valid Trade License, Registered Deed of partnership Firm/Article of Association & Memorandum, if applicable.

### **Terms & Conditions:-**

- Work should be completed within 7 (seven) days from issuance of work order.
- ii) The Bidder, at the Bidder's own responsibility and risk, may visit and examine the site of work and surroundings to obtain all information that may be necessary for preparing the Bid.
- iii) Description and specification as mentioned in the estimate should be strictly followed.
- iv) Payment will be made after completion of work on the basis of actual measurement.

Last date of submission quotation is on 06/06/2023 at 2.00 P.M. and will be opened on same date at 4.00 P.M.

Additional Director

West Bengal State Export Promotion Society